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1. Prove that in any

Watch Video Solution

ΔABC, a(sin B − sin C) + b(sin C − sin A) + c(sin A − sin B) = 0

2. In any triangle ABC, prove that

a sin (B  C)  + b sin (C  A)  +  c s ∈  (A  B)  =  0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vgyJA979XacC
https://dl.doubtnut.com/l/_4v91vMfQCVhz


Watch Video Solution

3. In any Delta ABC, prove that 

Watch Video Solution

”a cos” = (b + c)“sin”
B − C

2

A

2

4. If a =2,b=3 and c=4, find cos A, cos B and cos C.

Watch Video Solution

5. In any triangle ABC, the side are a=7,b=5 and c=8. Find A.

Watch Video Solution

6. Find the greatest angle of the triangle whose sides measure 3

cm, 4 cm and 5 cm.

https://dl.doubtnut.com/l/_4v91vMfQCVhz
https://dl.doubtnut.com/l/_1UYtHUiUQDKu
https://dl.doubtnut.com/l/_yj8JacJTqSWO
https://dl.doubtnut.com/l/_E5j5gtiX0eiK
https://dl.doubtnut.com/l/_XkqpE6yeMiBo


Watch Video Solution

7. In a triangle ABC, prove that

Watch Video Solution

(a
2 + b

2 − c
2)tan C − (b

2 + c
2 − a

2)tan A = 0

8. Prove that in triangle ABC 

Watch Video Solution

“tan” = ”cot”
B − C

2

b − c

b + c

A

2

9. In  , prove that 

.

Watch Video Solution

△ ABC

(b + c)cos A + (c + a)cos B + (a + b)cos C = a + b + c

https://dl.doubtnut.com/l/_XkqpE6yeMiBo
https://dl.doubtnut.com/l/_krMHveoxDuQh
https://dl.doubtnut.com/l/_QXxGnzzCgfH9
https://dl.doubtnut.com/l/_nE03vx4tloCR


10. If a=3,b=4 and c=5, find cos A, cos B and cos C.

Watch Video Solution

11. The sides of a triangle are 8 cm, 10 cm and 12 cm, find the

greatest angle.

Watch Video Solution

12. The sides of a triangle are 3 cm, 5 cm and 7 cm. Find the

greatest angle of the triangle.

Watch Video Solution

13. A triangle side are few  and  then the

smallest angle is

7cm, 4√3cm √13cm

https://dl.doubtnut.com/l/_0vWiDUggQ9KV
https://dl.doubtnut.com/l/_xUysnLdAc1B3
https://dl.doubtnut.com/l/_HQCPzlwG5XP8
https://dl.doubtnut.com/l/_h4fLG3gmTWjA


Watch Video Solution

14. In any triangle ABC, if , AC=4 unit, BC=3, find AB.

Watch Video Solution

∠C = 90∘

15. For any triangle ABC, prove that

Watch Video Solution

=
a + b

c

cos( )A − B

2

sin C

2

16. For any triangle ABC, prove that

Watch Video Solution

=
a − b

c

sin( )A − B

2

cos C

2

https://dl.doubtnut.com/l/_h4fLG3gmTWjA
https://dl.doubtnut.com/l/_lxsYRrkLLUX6
https://dl.doubtnut.com/l/_sOmRjs0bsEmP
https://dl.doubtnut.com/l/_msN7uwl8x6S2


17. In any triangle 
 prove that: 

Watch Video Solution

ABC

sin( ) = ( )
B − C

2
b − c

a

cos A

2

18. For any triangle ABC, prove that


Watch Video Solution

a(b cos C − osB) = b
2 − c

2

19. In , prove that: 


Watch Video Solution

ΔABC

a(cos C − cos B) = 2(b − c)
cos2 A

2

https://dl.doubtnut.com/l/_ox0arlLMYZK8
https://dl.doubtnut.com/l/_FLqCD0NWnkNt
https://dl.doubtnut.com/l/_AUYwE4l2GDwu


20. In any triangle 
 prove that: 

Watch Video Solution

ABC

sin( ) = ( )
B − C

2
b − c

a

cos A

2

21. In any triangle 
prove that: 

Watch Video Solution

ABC, =
sin(B − C)

sin(B + C)

b2 − c2

a2

22. In any triangle 
 prove that: 

Watch Video Solution

ABC

sin( ) = ( )
B − C

2

b − c

a

cos A

2

https://dl.doubtnut.com/l/_5RUcLUPfmX41
https://dl.doubtnut.com/l/_IDcQ9S6sCgU2
https://dl.doubtnut.com/l/_yXI8LprogVQg


23. In any triangle 
 prove that:



=0

Watch Video Solution

ABC,

(b − c) + (c − a) + (a − b)
cot A

2
cot B

2

cot C

2

24. In any triangle 
 prove that: 

Watch Video Solution

ABC,

 a3 sin(B − C) + b
3 sin(C − A) + c

3 sin(A − B) = 0

25. For any triangle ABC, prove that

Watch Video Solution

+ + =
cos A

a

cos B

b

cos C

c

a2 + b2 + c2

2abc

https://dl.doubtnut.com/l/_l7dNyrbB84rJ
https://dl.doubtnut.com/l/_F36MY6KhrdeF
https://dl.doubtnut.com/l/_KXqCvx8tEXUN


26. In any , prove that 

Watch Video Solution

ΔABC

sin 2a +  sin 2B+ sin 2C=0
(b2 − c2)

a2

(c2 − a2)

b2

(a2 − b2)

c2

27. For any triangle ABC, prove that

Watch Video Solution

(b
2
c

2)\ cotA\ + \ (c
2
a

2)\ cotB\ + \ (a
2
b

2)\ cotC\ = \ 0

28. In any triangle 
 prove that:


Watch Video Solution

ABC,

+ + = 0
a2 sin(B − C)

sin B + s ∈ C

b2 sin(C − A)

sin C + s ∈ A

c2 sin(A − B)

sin A + s ∈ B

https://dl.doubtnut.com/l/_fXBEHrwEEZ4d
https://dl.doubtnut.com/l/_m5jwi7wnOuBJ
https://dl.doubtnut.com/l/_Zez7DRuRU4gr

